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Year 2 Vocabulary
T . + add addition
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There are 7 flowers
in a vase. One
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Now there are 8
flowers.
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corner or vertex
square

cube
L

@ @ Year 2
Shape

face

side edge

vertices

e | peagen

quadrilateral

Repeating
shape
patterns

These 2D shapes have a vertical line of symmetry.

Vocabulary
2D shapes
square
rectangle
circle
triangle
pentagon
hexagon
octagon
3D shapes
cuboid
cube
cylinder
sphere
pyramid
cone
Sides
straight
sides
face
curved surface
flat surface
edges
vertex
vertices
symmetrical
line of
symmetry
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